Question No : 1 of 17

Marks: 1 (Budgeted Time 2 Min) (=)}

Choose the best option.
If a word is no longer in current use it is called:

[Answer ( Please select your correct option )

Colloguial
o]
Dialectal
~
Archaic
(o]
Poetic
c -
Wade By: Wagar Siddhuy

(Question No : 2 of 17

Marks: 1 (Budgeted Time 1 Min) (=]

How many suffixes are in the word “sentimentalist”?

[Answer ( Please select your correct option )

‘ Made By: Wagar Siddhuy

Question No : 3 of 17

Marks: 1 (Budgeted Time 1 Min) (=]

Choose the correct option.

Canada has legalized hemp farming, we can expect to see pulp and paper produced from hemp very soon.

-

/Answer ( Please select your correct option )

Due to
o]

So

As

Therefore
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Question No : 4 of 17

Marks: 1 (Budgeted Time 1 Min) (=]

Choose the best option from given Direct and Indirect speech sentence.

Ali asked him, "How did you solve the problem ?"

[Answer ( Please select your correct option )

Ali asked him how he has solved the problem.
o]

Ali asks him how he has solved the problem.

Ali asked him how he had solved the problem.

Ali asked him how did you solve the problem.

Wade By: Wagar Siddhuy

Question No : 5 of 17

Marks: 1 (Budgeted Time 1 Min) (=]

‘Which one of the following words is used to express ‘Facts’?

[Answer ( Please select your correct option )

Argue
o]

Suspect

Demonstrate
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Question No : 6 of 17

Marks: 1 (Budgeted Time 1 Min) (=]

Choose the hest meaning for the underlined word.

Studies indicate that a predi ition to schizophrenia is inherited. People who are schizophrenic are more likely than others to have schizophrenic children.

/Answer ( Please select your correct option )

Understanding
o]

Avoidance

Tendency
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Question No : 7 of 17

Marks: 1 (Budgeted Time 1 Min)

The cloze is essentially a which requires the completion of meaning based on understanding and reason.

[Answer ( Please select your correct option )

grammatical task
o]

linguistic task

cognitive task

physical task

Wade By: Wagar Siddhuy

Question No : 8 of 17

Marks: 1 (Budgeted Time 1 Min)

Identify the hest answer which is not a synonym for the word 'sleepy"'.

[Answer ( Please select your correct option )

Lethargic
o]

Soporific

Hyperbolic

Somnolent
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Question No : 9 of 17

Marks: 1 (Budgeted Time 1 Min)

Choose the correct passive form.

-

/Answer ( Please select your correct option )

Yesterday a hoy had been injured in an accident in High Street.
o]

Yesterday a boy was injured in an accident in High Street.

Yesterday a hoy will be injured in an accident in High Street.

Yesterday a boy would be injured in an accident in High Street.
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Question No : 10 of 17

Choose the best option.

Marks: 1 (Budgeted Time 1 Min) (=]

The first digital computer was not completed until

[Answer ( Please select your correct option )

1943

e

1944

1945

1946

Question No : 11 of 17

Wade By: Wagar Siddhuy

‘Write the Antonyms of given words.

Marks: 2 (Budgeted Time 4 Min) (=)}

1. Tlogical

2. Temporary
3. Inaccessible
4. Undiscovered

Answer ( Please click here to Add Answer )
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Question No : 12 of 17

YWade By: Weagar Siddhu

Identify the given statements as Fact or Opinion:

Marks: 2 (Budgeted Time 4 Min) ()]

1. Itis easiest to travel to Australia by hoat.
2. My sister looks best in red.

Answer ( Please click here to Add Answer )

DeEaR| dea]o a6 a @ o]
Juiormel ][ aviar 2
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Question No : 13 of 17 Marks: 3 (Budgeted Time 6 Min) =

‘What is the role of visual data in ication and under:

ding the material that we read?

Answer ( Please click here to Add Answer )

B e e A A e e
Jriormal | v 5 | FE
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Question No : 14 of 17

Marks: 3 (Budgeted Time 6 Min) (=)}

‘Why Cloze is considered a cognitive or mental task?

[Answer ( Please click here to Add Answer )

DwEaa] f o o] el v o=
Jnvormal ][ aviar Sl =Hetz o =
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Question No : 15 of 17

Marks: 5 (Budgeted Time 10 Min) (=]

Read the paragraph and identify the implied main idea. =
Orthodontists usually straighten the teeth of children. Lately, they have found a growing clientele with adults. The major reason for this is that different kinds of braces are now
available. Many adults do not like the "'tin grin" that goes along with metal braces. They now have two choices not available before. One is clear braces. Made of plastic, they are

much less obvious than metal braces. The second choice is lingual braces. These are attached to the back of the teeth, so they are out of sight. Thus, business people need no longer
feel self-conscious about wearing hraces.

/Answer ( Please click here to Add Answer )
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Question No : 16 of 17

Marks: 5 (Budgeted Time 10 Min) (=]

1

Ous, -extra-, trans-, -ward, -ment

1. Passing your driving test was quite an achieve.
2. When is the next Atlantic flight from London to New York?

Using prefixes and suffixes helow, modify the underlined words to p. the given

Answer ( Please click here to Add Answer )

B e e A A e e
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4
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Question No : 17 of 17

Marks: 5 (Budgeted Time 10 Min) (=]

-

Rewrite the sentences by changing the given verbs into gerund or infinitive.
1. He loves (garden) because it gives him a feeling of (do) something useful.

2. There is no point in me (ask) you (do) the washing up.

[Answer ( Please click here to Add Answer )
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